6000ZZ, 6200ZZ, 6300ZZ series qee® 0122

(2R @ppp Part 7 ~7Y>% Rolling Bearings

B B
] ]
i i
| 1
z _,%,,,g 3 _%,,,,g
1 1
e e}
R I
S—ILRT L—ILRT
7z Y4
%345 : 60002 ) — X FiE& BAfT : mm %347 : 63002 ) —XsFikE B mm
A3 i F % F AT % S % % FEA G E
@\ Cor @ Ch.
d D B (kN) (kN) d D B (kN) (kN)
60002z 10 26 8 4.55 1.97 630022 10 35 11 8.10 3.45
60012z 12 28 8 5.10 2.37 630122 12 37 12 9.70 4.20
600222 15 32 9 5.60 2.83 630222 15 42 13 114 5.45
60032z 17 35 10 6.00 3.25 630322 17 47 14 13.6 6.65
60042z 20 42 12 9.40 5.00 630422 20 52 15 15.9 7.90
600522 25 47 12 10.1 5.85 630522 25 62 17 20.6 11.2
600622 30 55 13 13.2 8.30 630622 30 72 19 26.7 15.0
60072z 35 62 14 16.0 10.3 630722 35 80 21 335 19.2
60082z 40 68 15 16.8 11.5 630822 40 90 23 40.5 24.0
600922 45 75 16 20.9 15.2 630922 45 100 25 53.0 320
601022 50 80 16 21.8 16.6 631022 50 110 27 62.0 385
* FEERTULT 1L, MALEXTSURET, OZAKY L—TDERUTY .
%346 : 62002 ) — X FiE& BT mm *6000, 6200, 630021 —RLISDEEIZHEEICELONZBANEYETOT, BEALAHLETEL.
A& i F % Fe AR T
@ Chs
d D B (kN) (kN)
62002z 10 30 9 5.10 2.39
620127 12 32 10 6.80 3.05
620222 15 35 11 7.65 3.75
620322 17 40 12 9.55 4.80
620422 20 47 14 12.8 6.60
620522 25 52 15 14.0 7.85
620622 30 62 16 19.5 11.3
62072z 35 72 17 25.7 15.3
620822 40 80 18 29.1 17.9
620922 45 85 19 315 20.4
62102z 50 90 20 35.0 23.2
420 421



(MZE eppp H#L7407—7Ov% Cam Follower Bolcks

CFBW series qeq@ (0170

. ZEMEHRESHRILZAOFT—TOVY

-
X
1)
e

]

=]

|89
i3s}
-t

H !
A

1) O

A [%H | il s

B\

0

BERS

T AT AT 1
RN N
_ N
lg:%-/ RIS ey
1 _fg T [ ] F
mee E3 N
AN
AN
\== SENINEE =\
\ s s a
e ||| ©HF \\ﬁi— A —Eﬁi
£ 82 -
— @:,j_].) r@i@ _ (1T FH (1]
N O 3
e A LR — —
% ~
N\ A=A
@ ae A
T B H i

422

[BECBE [OZRAR

[(rSyo#mme  UZAR

)
7 — 27

LLffzg ¥

FSYOBBRIESL, HLT7AO7—MEMT S
rUINERPECAZEE T CRGELTERTE
HEEZELL, FIYIMBOIRYBSEES(CX
Y, TORESEFROTUVET.

FKIS51IZRLIZNSYIHBRREIL, BIRES
1250N. mif, B SH-CA0DIHFEE D LD THY, k599
MEDBIRES, BEHLOAZDEERLLBEIC
1%, COMEIZRIA9D NS VB ERBERLT
ROFETF.

1) RAYREEIE, ARANGEETIRHATHIES %349
TY. 5lRGAS i = S
2) BEROZVRECEYDERATIENLHD (N/m) (HsC) TERK
ZUBHTTEHEMREZOL—ILANHZRETYT (EA 820 26 0.45
;BE —30°C~100°C) 960 32 061
3) EBKFERISEMAL, KESLHEOHRIC 1100 %6 079
AR, BEMLIBNSK, BHOTENERE 1240 40 100
BRENBIEER/DIENTEET. 1380 w4 104
4) BRESVERIE, EATITEEQELDIEERAEL, 1520 4 150
BEEFICH AR ELHEET. ’

1660 50 1.78
| BEERRE ZAE 1790 53 2.09

1910 56 242
#348 BA: um 2070 58 2.78

L ZAYRE
BEE Stk 2Dm | B =18 5 d g
il g NP I T (@ZRLS
EEA|UTF|E| F |E| F|E| T |[MAX|E| F %350 4 —R@HNP.H
H I U A B et BOE | RAYRRTHEP) | RAYRSEMH)
g °L=C cre8 — —
10 | 18 |0 |—50|0|—8| 0 |—120 15 —18
*SUTLAFTIET R TB~50 4 mTT. CF10 O
CF12pt (@) (@]
EE MZRAR
1) RAYRRTERIZERITTHEZ Y ) —R @R NP)IE,

ALI7AOT7—DEERFmEFMEIE, RA(CK-TEH
BHInFET.

Lho= 6100_; (%)/3 22

Lhy: DAT+OT7—DEKREERFGHR h
C : EXBERAE N
P ENEMAE N
n : [EEREK rpm

J)—R=yFIEREALTHEALET.

2) RAYRHEDT ) —RFRNHEERT S5
BlE, FUHDFHENPIEFBEDOLOHIETSS
WTTaLY.

X, RZYRNEOHBENRHIDSIEE, H#E
ICHRAENDELICKY BBIMICSSANET.

3) hAL7+x87—RHIZIE, FHREDLETAE
J)—ZNHASNTEYETA, EREHICHE
CHEYEY AL TLRITARS)—REHIBLT
T&ELN.

* {HFRE (L —20°C~+120°CTY . 423



(0\ZE[< eppp HL7+O07—70Ov% Cam Follower Bolcks CFBW series qee® (0122203

L
blTu =0, [y .
by f=— B =t 2|t 3> Lo
{ <Ly
e \ |
#D _‘_*"“"¢d "_\__ ! | /(\\
CL 1 f {OD
1 7 ' | i\1§)f/
T
2-CFdUU / Ll !
e W |¢'S
2-JufF AL b
=—B1—~ W—= ¢ ‘ —
T to
L
%351 : CFBW ) —X5Fik& BART : mm
[ = = <+ e E = <+ e W A | BT a7 — | EAEREE | EE
CFdUU C C
b v R °
L | L | L |L | ¢ | &| &|H|H|h|h|W|w|T]|T tt | & | t | B | B | b | b | D| d | S |[Fnb (kN) &N) | &N) | ()
CFBW6 64 66 34 8 28 50 1 20 19 12 1 20 14 32 28 5 8 7 11 12 0.6 0.4 16 6 6 M5 CF367UU 5.8 4.7 140
CFBWS8 92 94 56 10 46 75 1 25 24 15.5 1 25 18 37 32 6 10 10 11 12 0.6 0.4 19 8 7 M6 CIZS[:.IU 6.4 8.2 290
CFBW10 120 122 78 11 60 100 1 30 29 19 1 29 20 42 36 6 11 12 12 13 0.6 0.4 22 10 9 M8 CF1503UU 8.7 12.2 480
CFBW12 152 155 95 12 80 125 15 35 33 20 2 31 22 46 41 7 12 14 14 15 0.6 0.4 30 12 9 M8 CF%ZQUU 115 16.1 790

424 425



D\ZREC @ppp Ov KT K, EO—FK—I1 ¥ —

Rod Ends & Pillow Balls Insert Type qeq@ (01ZE[K

OZRAROYRIVRAELYIZEA—R—)LY ) —XI(Z
IFHEER - ERERBEURTULRERBERXDS
BEADYET. KBTS ELHZAMEKE
NEmELTHKIAESE, BHhREISHEELH
ZRMKENHELTEHSHBEDHIPTFESA
F—ERERRRMERILST —F ISR~
Y—bL, FERATULRERBXIER T LB
ZRNEHELTCECHBEDHLPTFES AT —%RT
DL RBRIILE —F IR — T BT
&Y, BONTHOMERMEDHD, BEFFDME
Eix, BENEENEBRLHENTEET.

[EmmesemEn  OXAK

BERTE ¢
OYRIVRGLUICER—R—IILDEIERFTEL
%, RI54AICEDH-EHRFMGICKITESEEICH
RIBDETICMRAIDKIOGEEBEBBFOAREKXR
ESIN—EDSTTILMEEVVET. BERFE
D1/ 2T AT A EEHRVLET.

FREMEE
BEBTELL BERFAECEDLONIRKIE
T, BIEBICET5HRERESA—EDFHFITT

% = OZRAR  iwEeovzy. chutomsstmRaesy
LEDE LS LET.
%352 EEEE X EEELET
OyrRIUR Eao—R—JL ERED
HRLAHE | BRldE | 12— AYRIVRASRIZEA—R—ILOE@IE, TY
@il PHS POS PBI EMEEOBRICESTEFEMETRLET.
OZAKTIEAES ST ILT EENEMEEZRIZE
EiGHR MHS MOS MBI &, SHUEICEELIBEERFEFGELTBYE
ZFULR T. HBE, EREGICEELLEFORSIOTILTE
- MHSS MOSS MBIS FEFWMPSOTILTEELEMICKSTEEEM
EOBHIBYET.
Ch) ERLOBEFEEORRBCLERTRRL *
4. *R354 : MMFVTINTEE, ERFD, BIVTINTEEE
#l POSI6L (BhllLERE) (e - Bigilh - A7/ L ABRIBAE) B4 - mm
R RRED |,
% = OZRKR  we so7u | FesmmE | 700
d | FEE | GER-LEx004) =
#*353
on — o 5 |0.005~0.035 0.045 0.050~0.080
6 |0.005~0.035 0.050 0.055~0.085
@t | o
it & kR0 LB 8 |0.005~0.035 0.065 0.070~0.10
N & FESET 10 | 0.01~0.05 0.080 0.090~0.13
ATYLA | susasocta ) 12 | 0.01~0.05 0.090 0.10~0.14
PN BRAAS 14 | 001~005 0.10 0.11~0.15
A9 —k | miamst 16 | 0.015~0.06 0.12 0.135~0.18
- fb a5 PTFE (F708Y)
ZFULR 18 | 0.015~0.06 0.13 0.145~0.19
fam=t 20 | 0.015~0.06 0.14 0.155~0.20
. e BERRRH
g — | A 22 | 0.015~007 0.16 0.175~0.23
ATULR | ATUL RS (SUS303) 25 | 0.015~0.07 0.17 0.185~0.24
#aimt b 1 s 30 | 0.015~0.07 0.20 0.215~0.27
g PP BERRRH
ZFULR | RFULRS (SUS303)

426

K MZRR
%355
® R B B |HERE | HESRE
SHEmIME D h6
PBI SMERTE w +0.1
MBI MR E d H7
MBIS - 0
Lo T o
PHS - POS | NERRIE d H7
MHS - MOS 0
MHsS - Moss | PIHRIE | T —01
[ NXTFA ZAS
%356
ERRESN L] NSV
HEAA—E h7 H7
MEAAES p6 N7

GEY NS T OHEBENATAIEPBI - MBIEB LU
MBISY)—XTT.

L ™ & Q2K

HimXOYRFIURGSUICEO—R—)LIZIX, EH
BT —RE[RTILENHYFET. EHHOD
FECHEALET LT ARYEMEOERIEML
Y, BAEORRELBYET.
FEHHAXBLVRTFULRAERBXOOYRIURN -
En—R—LIZESHEEOH DS/ —%BVE
[SLTWE71=8, EHMTOERANTIEETT .

07

Oy KTy KLt
PHS, MHS, MHSS

Oy kI FEh Ut
POS, MOS, MOSS

EO—FR—l1 89—l
PBI, MBI, MBIS

427



(012222 @p»» 0vFIVF®hUH Rod Ends(Female Screw) PHS series Oy FIYkshUH Rod Ends(Male Screw) POS series qeq@ (017222

|<T ] =T
e B w
[
M |
2 } f
af B | 4B F
\ r 1 ) ‘
e | |
oL t
| L2 \ sz ‘
- fé‘ Y oy
| |- i
e S,

#£357 : PHS ) — XHE&R B mm #359 : POSY ) —XHiE&k BA{T : mm
2 F E Yt - % A= V& | B E |8 & o aE ol Na % R— V% | Bt i | B i
HAY 1vF @ AT 15 ©
4V |d|d |D|D|D|W|T| L |L | L | Ls S H|r B (kN) | (kg) A d |d|D|W|T L | L | L S r B (kN) (kg)
PHS5 , POS5 ,

PHSsL | 5| 77|16 |9 |11 |6 | 8[35 | 27| 12| 4 | M5x08 | 9|05 s 29 |0.018 POSBL 51 77| 16| 6 8 | 4 33| 20 | M5%x08 | 05 Vs 2.9 0.014
PHS6 . POS6 .

PHSeL | 6| 9 [18]10 |13| 67| 9|39 | 30|14 |5 | Mexl |11 |05 A 37  |0.026 POS6L 6| 9 | 18| 67| 9|4 | 36| 22 M6 X 1 0.5 Y 37 0.019
PHS8 s POS8 5
PHSgL | 8|104[22(125)16| 9 | 12|47 | 36|17 | 5 |M8x125| 14 |05 % 65 |0.046 POSSL 8 [104] 22 | 9 | 12 | 53 | 42| 25 | M8x1.25 | 05 %% 6.5 0.035
PHS10 5 POS10 5
PHs1oL | 10129( 26|15 | 19|11 |14 | 66 | 43|21 | 65| MI0X15 | 17 | 0.5 Y 97 |0.074 posioL | 10 [129| 26 |11 14 | 61 | 48| 29 | MIOX15 | 05 A 9.7 0.061
PHS12 , POS12 ,

PHS12L | 12 |154( 30 [17.5 22 |12 | 16 | 65 | 50| 24 | 65|M12X1.75( 19 | 1 7 122 |0113 posizL | 12 [154| 30 |12 | 16 | 69 | 54 | 33 | MI2x175 | 1 7 122 0.092
PHS14 POS14
PHS14L 14 [16.9| 34 |20 25 |14 19 | 74 57|27 | 8 M14x2 | 22 | 1 1 16.5 0.166 POS14L 14 16.9 34 14 19 77 60 36 M14X%2 1 1 16.5 0.131
PHS16 } POS16 ;

PHS16L | 16 |194[ 3822 | 2715 | 21| 83 | 64|33 | 8 | MI6x2 |22 |1 1 200 |0.202 posieL | 16 |194| 38 |15 | 21 |8 | 66| 40 | MI6x2 | 1 1 20.0 0.184
PHS18 . POS18 .

PHS18L | 18219[ 42|25 |31 (17 | 23| 92 | 71|36 |10 |MI8X15|27 | 15| 14 251  |0.296 posigL | 18 [219| 42 [17 | 23 |93 | 72| 44 | MI8XL5 | 15 1% 25.1 0.268
PHS20 , P0S20 ,

PHS20L | 20 |244( 46 |27.5] 34 |18 | 25 {100 | 77| 40 |10 |M20X15 |30 | 15| 1% 293 |0.364 poszoL | 20 | 244 46 |18 | 25 |101 78 | 47 | M20x15 | 15 1% 29.3 0.330
PHS22 ) P0S22 )

PHS22L | 22 |258( 50 [30 |37 |20 |28 109 | 84|43 |12 |M22x15|32 | 15| 14 358 | 0.480 pos2oL | 22 | 258| 50 |20 | 28 |109 | 84 | 51 | M22X15 | 15 1 35.8 0.438
PHS25 ., POS25 .

PHS25L 25 129.6| 56 |33.5] 42 |22 31 122 94| 48 (12 M24X2 | 36 | 2 1'% 439 0.673 POS25L 25 29.6 56 22 31 |122 94 57 M24 X2 2 1'% 43.9 0.575
PHS30 POS30
PHS30L | 30 [348( 67 [40 | 50 |26 |37 (1435]110| 56 [15 | M30X2 |41 | 2 2 622  |1.050 possoL | 30 | 38| 67 |26 | 37 |1435) 110 | 66 | M30x2 | 2 2 62.2 0.996

%358 : FEENAE Bf o B %360 : FBENAE Bif o B
PMEd () | 5| 6| 8[10(12]14|16|18(20(22|25 |30 AEEd (mm) | 5| 6| 8 (10|12|14[16|18|20(22|25 |30
a |45] 8]10] 8|10]11|12|11]11|12]12] 12 a |45] 8 (10| 8|10|11|12]11]11|12]12]12
PHS POS
a, |7 11|14 (12|13 |14 15|14 |14 15|15 |15 a, |7 1114|1213 |14|15|14 |14 |15|15|15

429



(012222 @ppp to-#-i{ 4~ Pillow Balls Insert Type PBI series

E4407 KT KohUR Maintenance Free/Rod Ends(Female) MHS series

eceo (0172203

- I P—
m
-

#&361 : PBIZ ) —X5FiER B4 : mm
BoF E % ~F ® R— % B ERE A B
A ¥ F (mm) C

d d D A T r H B a’ (kN) (kg)

PBI5 5 7.7 16 6 8 0.5 1.5 76(11.112) 7 2.9 0.010
PBI6 6 9 18 6.7 9 05 1.5 ¥ (12.7) 11 37 0.012
PBI8 8 10.4 22 9 12 0.5 15 %4 (15.875) 14 6.5 0.024
PBI10 10 12.9 26 11 14 0.5 jJ#5) % (19.05) 12 9.7 0.040
PBI12 12 15.4 30 12 16 1 2 74(22.225) 13 12.2 0.058
PBI14 14 16.9 34 14 19 1 2 1(25.4) 14 16.5 0.086
PBI16 16 19.4 38 15 21 1 2 14(28.575) 15 20.0 0.116
PBI18 18 21.9 42 17 23 J[#5 2.5 144(31.75) 14 25.1 0.157
PBI20 20 24.4 46 18 25 15 2.5 194(34.925) 14 29.3 0.200
PBI22 22 25.8 50 20 28 15 25 124(38.1) 15 35.8 0.262
PBI25 25 | 296 | 56 | 22 31 15 | 3 114, (42.862) | 15 439 0.362
PBI30 30 | 348 | 66 | 26 37 2 3 2(50.8) 15 62.2 0.608

430

#362 : MHS 1) —X3fi%%& BAGE : mm
B & F % sf % A= VE|BERWE | B =
AT ez @

%4V |d|d |D|D|D)|W | W, |T| L |L |L|L S H B (kN) (kg)
MHS5 7
MHS5L 5| 77(16|9 |11|6 |3 | 8[35 | 27|12| 4 | M5%0.8 | 9 2 44 | 0018
MHS6 .
MHS6L 6|9 |18|10 |13| 6.7 33| 9[39 | 30|14| 5 | Mex1 |11 v 57 | 0.026
MHS8 s
MHSSL 8(10.4| 22 |125] 16| 9 45|12 | 47 36|17| 5 M8X1.25 | 14 % 10.3 0.045
MHS10 s
MHS10L 10 (129 26 |15 19|11 55| 14 | 56 43121 | 6.5 MIOX1.5| 17 % 15.2 0.076
MHS12 ,
MHS12L | 12 |15:4( 30 [17.5/ 22|12 | 6 |16| 65 | 50|24 | 65/M12X1.75| 19 % 200 | 0114
MHS14
MHS14L | 14 (16934 (20 | 25|14 | 7 |19| 74 | 57|27| 8 | M14x2 | 22 1 267 | 0.158
MHS16 )
MHs16L | 16 194(38 |22 27|15 | 75/21| 83 | 64|33 |8 | Mi6x2 | 22| 14 329 | 0.200
MHS18 )
MHS18L 18 |21.9| 42 |25 3117 85(23 | 92 71|36 |10 M18X1.5 | 27 1% 41.3 0.288
MHS20 3
MHs20L | 20 [244( 46 275/ 34 |18 | 9 | 25100 | 77|40 |10 |M20X15 |30 | 1% 489 | 0372
MHS22 .
MHS22L | 22 [25:850 (30 | 37120 |10 | 28109 | 84|43 |12 |M22X15|32| 1% 59.1 0.475
MHS25 j
MHS25L | 25 [29:6] 56 |335( 4222 |11 |31 (122 | 94|48 |12 | M24X2 |36 | 1% 75.1 0.673
MHS30
MHS30L | 30 [348| 67 [40 |50 (26 |13 |37 143511056 (15 | M30X2 |41 2 104.0 1.050
%363 : FFAESAE BfL: E
PEd (mm) | 5| 6 | 8 |10[12|14|16[18(20 |22 (25|30
a, |45 8|10| 8 10|11 |12 |11 |11|12|12]|12
MHS
a |7 |11|14[12]13 14|15 |14 |14 [15| 15|15
431




(0222 @ppp ks KIykahLH Mantenance Free/Rod Ends(Male) MOS series Ern-f-b Maintenance Free/Pillow Balls MBI series qeq@ (017222

di
1
&
|
L4, ]

" af = s
4 i
s
!
|
s -

%364 : MOS ) —XHExR BT mm %366 : MBI ) — X 1R BAfST : mm
& G5l % < % R— VEE B EAGAT E | B a U * % < % R— V% BEiEmE | H =
BAY ez c 4 > F () c
A¥ |'d | d | D | W |W | T | L | L | L S B &N) | (kg) d d, D W T r H B a’ (kN) (kg)
mgggl_ 51 77|16 | 6 3 8 | 41 33| 20 | M5%08 Vs 44 [0014 MBI5 5 77 | 16 6 8 05 | 15 7,11112) | 7 44 0.010
MOS6 6 9 18 6.7 33 9 45 36 29 M6X 1 A 5.7 0.019 MBI6 6 9 18 6.7 9 0.5 1.5 ¥ (12.7) 11 5.7 0.012
MOS6L
mgggl_ g | 104 | 22| o | 45| 12|53 | 42| 25 | mex1.2s 5 103 |0.036 MBIg 8 | 104 | 2 9 12105 [ 15 | 05875 | 14 10.3 0.024

MBI1 10 [ 129 | 26 | 11 14 05 | 15 3(19.05 12 15.2 0.040
MOS10 | ;0 | 159 | 26 |11 55| 14 | 6l 48 | 29 | M10X15 A 152 | 0.060 0 (19.09
MOS10L
MOS12 MBI12 12 | 154 | 3 | 12 16 1 2 74(22.225) | 13 20.0 0.058
12 | 154 | 30 |12 6 16 | 69 54 | 33 | M12x1.75 % 200 |0.089
MOS12L
MOS14 MBI14 14 | 169 | 34 | 14 19 1 2 1(25.4) 14 26.7 0.086
MoslaL | 14 | 169 | 34 | 14 7 19 | 77 60 | 36 | M14x2 1 267 |0.129
MOS16 MBI16 16 | 194 | 38 | 15 21 1 2 144(28.575) | 15 32.9 0.116
MosieL | 16 | 194 | 38 |15 75| 21 | 8 66 | 40 | mi6x2 1% 329 |0.81
MBI18 18 | 219 | 42 | 17 23 15 | 25 | 14(31.75) 14 413 0.157
mggigL 18 | 219 | 42 |17 85| 23 | 93 72 | 44 | M18x15 | 14 413 |0.250
MBI20 | 20 | 244 | 46 | 18 25 15 | 25 | 134(34.925) | 14 489 0.200
MOS20 | o | 544 | 46 | 18 9 25 | 101 78 | 47 | M20x15 | 1% 489 [0.333
MOs20L MBI22 22 | 258 | 50 | 20 28 15 25 | 14(38.1) 15 59.1 0.262
MO0S22 .
Mos22L | 2% | 28| 50 120 |10 B || e I 2oL [CES0 MBI25 | 25 | 296 | 56 | 22 31 15 | 3 1, (42.862) | 15 75.1 0.362
MOS25 |, | 596 | 56 | 22 | 11 31 | 122 94 | 57 | M24x2 N 751 |0575
MOS25L : : - MBI30 | 30 | 348 | 66 | 26 37 2 3 2(50.8) 15 104.0 0.608
MOS30
MossoL | X | 48| 67 |26 |13 37 |1435| 110 | 66 | M30x2 2 1040 | 0.99
#365 : FEENAE BifT - B

PEd (mm) | 5| 6| 8(10|12|14|16|18(20 |22 (25|30

a, (45| 8|10| 8 [10|11|12|11 |11 |12]|12]]12

MOsS
a, |7 1114|1213 |14|15|14 |14 |15|15]|15

433



(M2 @ppP  37/VaaknsFIskml SailessMaiterance Free/Rod EndsFemale) NHSS series

X5V ARy KIURBUA Stanlss Maintenance Free/Rod Endliae) MOSS series qeq@ (017222

&367 : MHSS ') —X~fiksk BRE  mm
A SE Y ~ % R— VI | BEtbin i | B &
g tv#| ©
£%Y |d|d |D|D |D|W|W|T|L|L|L|L| s |H| B kN) | (kg)

MHSS5 ,

MhssaL | 5| 77|16] 9 [11f6 |3 | 8|35 [27]12] 4 |msx08 | 9| 44 | o018

MHSS6 1

MhsseL | 6] 9 [18[10 13| 67| 33| 9|39 | 30|14|5 | mex1 11| 4 57 | 0026

MHSS8 .

MhssaL | 8|104]22(125]16| 9 | 45|12| 47 | 36| 17| 5 |Mex125|14| % 103 | 0.045

MHSS10 5

MHssioL| 10[129]26 (15 |19 |11 | 55|14 56 | 43|21 | 65| Mi0x15[17| % 152 | 0076

MHSS12 ,

MHss1aL | 12(154] 30 [17.5] 22 12 | 6 | 16| 65 | 50|24 | 65/mi2x175] 19| % 200 | o114

MHSS14

MHssiaL| 14[169]3¢ (20 25|14 | 7 19| 74 | 57|27 8 | miax2 |22| 1 267 | 0158

MHSS16 ‘

MHssieL| 16 [194]38(22 |27(15 | 75(21| 83 | 64|33 | 8 | miex2 |22| 14 329 | 0.200

MHSS18 .

MHssisL| 18(219]42(25 |31(17 | 85[23| 92 | 71|36 |10 |misx15|27| 14 413 | 0288

MHSS20 ,

MHss20L | 20 |244| 46 [27.5[ 34 18 | 9 | 25]100 | 77|40 |10 |M20x15|30 | 1% 89 | 0372

MHSS22 1

MHss2L | 22|258]50 (30 |37(20 |10 [28|109 | 84|43 |12 |M22x15|32| 14 591 | 0475

MHSS25 B

MHsszaL | 25 |296] 56 335] 42 22 |11 |31 |122 | 94|48 |12 | M2ax2 | 36| 1% 751 | 0673

MHSS30

MHss30L| 30 38|67 [40 |50 |26 |13 |37 [1435/110| 56 [15 | M3ox2 41| 2 1040 | 1050

R368 : FEEMAE B &
PEEd (m) | 5| 6|8 |10[12[14|16(18|20 |22 25|30
a |45 8 [10| 8|10]11[12|11 |11 |12]12 12
MHSS
@ |7 [11]14|12]13]14 | 15| 14|14 |15 | 15|15

-
s
#369 : MOSS¥Y) —X3FiER BAGL : mm
A SE = Na % R— VB | BYEREITE | B &
Chokd 15| ¢
EARY d d | D| W | W | T L L, | L S B (kN) (kg)
MOSS5 S
MOSS5L 5 77 1 16 | 6 3 8 | 41 33 | 20 | M5%0.8 2 44 | 0014
MOSS6
MOSS6L 6 9 18 6.7 8.3 9 45 36 22 M6 X 1 Y% 5.7 0.019
MOSS8
MOSSSL 8 | 104 | 22 | 9 45 | 12 | 53 42 | 25 | M8x1.25 % 103 | 0.036
MOSS10
MossioL| 10 | 129 | 26 | 11 55 | 14 | 61 48 | 29 | M10X15 A 152 | 0.060
MOSS12
Moss12L | 12 | 134 | 30 | 12 6 16 | 69 54 | 33 | M12X1.75 %% 200 | 0.089
MOSS14
Moss14L| 14| 169 | 34 | 14 7 19 | 77 60 | 36 | M14x2 1 26.7 | 0.129
MOSS16 ‘
mossieL| 16 | 194 | 38 | 15 75 | 21 | 85 66 | 40 | M16x2 1% 329 | 0.181
MOSS18 .
MossigL | 18 | 219 | 42 | 17 85 | 23 | 93 72 | 44 | M18X1.5 1V 413 | 0.250
MOSS20
Moss2oL | 20 | 244 | 46 | 18 9 25 | 101 78 | 47 | M20X1.5 1% 489 | 0.333
MOSS22
MOss22L | 22 | 258 | 50 | 20 10 28 | 109 84 | 51 | M22x15 1 59.1 | 0.430
MOSS25 i
MossasL | 25 | 296 | %6 | 22 11 31 | 122 94 | 57 | M24x2 1 751 | 0575
MOSS30
Moss3oL | 30 | 348 | 67 | 26 13 37 |1435| 110 | 66 | M30x2 2 1040 | 0.99
R370 : FEEMAE Bify o E
PI#Ed (mm) | 5| 6 | 8 [10]12|14|16|18|20|22|25 |30
a [45] 8|10] 8|10|11|12|11|11[12|12|12
MOSS
a |7 [11|14]12|13|14[15|14|14[15|15|15

435



(MZE[C @ppp *7/vaeskn-t-b Stainless/Mantenance Free/Pilow Balls MBIS series

o B
<
£&371 : MBISY ) —XFi%k B4 : mm
BoF 25 % ~F fi K= V% Byt E | E R
A > F (mm) ©
d d, D A\ T r H B a’ (kN) (kg)
MBIS5 5 7.7 16 6 8 0.5 15 76(11.112) 7 4.4 0.010
MBIS6 6 9 18 6.7 9 05 15 ¥ (12.7) 11 5.7 0.012
MBIS8 8 10.4 22 9 12 0.5 15 24(15.875) 14 10.3 0.024
MBIS10 10 12.9 26 11 14 0.5 15 %:(19.05) 12 15.2 0.040
MBIS12 12 15.4 30 12 16 1 2 74(22.225) 13 20.0 0.058
MBIS14 14 16.9 34 14 19 1 2 1(25.4) 14 26.7 0.086
MBIS16 16 19.4 38 15 21 1 2 1/4(28.575) 15 329 0.116
MBIS18 18 21.9 42 17 23 1.5 2.5 14(31.75) 14 41.3 0.157
MBIS20 20 24.4 46 18 25 15 2.5 134(34.925) 14 48.9 0.200
MBIS22 22 25.8 50 20 28 15 25 124(38.1) 15 59.1 0.262
MBIS25 | 25 | 296 | 56 | 22 31 15 | 3 114, (42.862) | 15 75.1 0.362
MBIS30 | 30 | 348 | 66 | 26 37 2 3 2(50.8) 15 104 0.608

436



